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UNIVERSITY OF MONTENEGRO                                                                          

INSTITUTE OF FOREIGN LANGUAGES 

MID-TERM ENGLISH TEST

(mock test)

A. COMPLETE THE SENTENCES USING THE APPROPRIATE FORM OF THE MODAL VERB (to be allowed to, have to, can, could, must, should, will)
1. I think you SHOULDN’T/MUSTN’T  listen to the others. (negative) You’d better be more 
    self-confident.
2. Women COULDN’T  vote in England until 1927. (negative)
3. I have already read the book so I DON’T HAVE TO read it again. (negative)
4. I COULD read at the age of four. 

5. You MUSTN’T  yell in hospitals. (negative) 

6. He didn`t pass his driving test so he HAS TO/MUST take it again. 

B. PUT THE VERBS IN BRACKETS INTO THE CORRECT TENSE: 

1. If they had been luckier, they WOULD HAVE WON (win) the match. 
2. I would have come yesterday if I HAD HAD (have) nothing to lose. 
3. I shall be very angry if he BREAKS (break) any more plates. 

4. If I were you, I WOULD SELL (sell) that old junk. 


5. If you didn’t sit up late, WOULD YOU BE (you, be) sleepy? 
6. What WOULD HAPPEN (happen) if I press this button?

7. If I HAD KNOWN (know) that she was coming I WOULD HAVE CLEANED (clean)  
 my flat. 
C. REWRITE THE FOLLOWING SENTENCES IN THE PASSIVE. 

1. Sharon is writing a new book at the moment.
A NEW BOOK IS BEING WRITTEN AT THE MOMENT. 

2. Someone left a cat in front of my house.

A CAT WAS LEFT IN FRONT OF MY HOUSE. 
3. We will rent a new flat.

A NEW FLAT WILL BE RENTED. 
4. Somebody has given him my glasses.

HE HAS BEEN GIVEN MY GLASSES/HE HAS BEEN GIVEN MY GLASSES. 
5. They deliver milk to our doorstep.

MILK  IS DELIVERED TO OUR DOORSTEP. 
6. No one can answer your question. 

MY QUESTION CAN BE ANSWERED BY NO ONE. 
D. a) FILL IN THE GAPS WITH THE COMPARATIVE OR SUPERLATIVE FORM OF THE ADJECTIVES IN BRACKETS:  
1. She is THE MOST BEAUTIFUL (beautiful) girl I have ever seen. 

2. I have FEWER (few) English books than you. 

3. Sarah is THINNER (thin) than I thought, but THE PRETTIEST (pretty) of them all. 
4. A WORSE (bad) mistake could not be made. 

     b) FILL IN THE TABLE WITH PROPER POSITIVE, COMPARATIVE OR SUPERLATIVE FORM OF THE ADJECTIVES GIVEN: 

	POSITIVE
	COMPARATIVE
	SUPERLATIVE

	good
	BETTER
	THE BEST

	BUSY
	busier
	THE BUSIEST

	FAR
	FURTHER
	the furthest

	common
	MORE COMMON/COMMONER
	THE MOST COMMON/THE COMMONEST
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